20229 = 20la 220l 3sSEIAH A

©OAEI = X

Of & AF & & A

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET

1,059,705 1,037,949 21,756
=2 226,178
< 72,354
s 761,173

22E 956,427 881,305 75,122
= 169,504
< 58,186
[ia 728,737

SOHAE (2203 SE3AH) 956,427 881,305 75,122
= 169,504
< 58,186
[ia 728,737

S UHaAes A=2=2E 15,810 8,664 7,146
< 15,810

2Et2 H Y| 4,000 4,000 0
< 4,000

AtS 2tel ] 4,000 4,000 0
O AZSSHAIEZ=E HH2EH| 2,000
< 2,000
O S SHYERFE S20HAHI 2,000
< 2,000

04 dl 11,710 4,564 7,146
< 11,710

=L 11,710 4,564 7,146
O 9= 28HAE =& Kl 5,470
< 5,470
O gzas022AL RFA Kl 6,240
< 6,240

ALENZ 100 100 0
< 100

12 JIEtE4 3 100 100 0
O S SHAMY duEaF 100
< 100

ZSE S8 RAEAY 728,737 686,829 41,908

308 XtXIEHH SOl A 728,737 686,829 41,908

07 HIXNHMAR2E = 728,737 686,829 41,908
O XzHuE= 713,482
O AL 4R 2,415
O AELAZH| 100
O g2AsL22 1,432
O JIEtZ2HIRE S 11,308

S2S0AIY(BEE R, BA&Z 822,2%0) 211,880 185,812 26,068
= 169,504
< 42,376
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SN ALSI S X
My RO EMBEE
EHel: A= 2 0HML(AETSHIISS LS AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 211,880 185,812 26,068
= 169,504
< 42,376
01 MEI2EZE 45z 211,880 185,812 26,068
O HZdasd &HXZ 48,620
= 38,896
< 9,724
O 8380HAS 163,260
-0l E010| 69,500
= 55,600
< 13,900
SRt = SRR =g S = 14,260
= 11,408
< 2,852
-=RGgESS 10,000
= 8,000
< 2,000
2 2| 69,500
= 55,600
< 13,900
A 2L ZH (AL =X 1tH) 103,278 156,644 53,366
= 56,674
< 14,168
[ia 32,436
Ol 2 ofH| (BRI A HHI) (AB SN SSESIH) 103,278 156,644 153,366
= 56,674
< 14,168
s 32,436
2He| ARl 24| 103,278 156,644 A 53,366
= 56,674
= 14,168
[ia 32,436
101 @124l 93,589 156,644 A 63,055
= 51,794
< 12,948
[ia 28,847
03 BRE(RIAHA)2Z2NHE S 93,589 156,644 A 63,055
O A= S22l AL elAH] 93,589
= 51,794
< 12,948
i 28,847
304 A3 RE=S 9,689 0 9,689
= 4,880
< 1,220
s 3,589
01 A3 2EE3 3,941 0 3,941
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2AM: A=K
M HNSHAAH| (AL =X )

o oIy (ZelMdAb ) (Ade20HISSEA) (et &)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

04

203 AIBX BE2

2 (LI H%)2

O Az s &elA

O Az SHECAL M4THEE MEX BER

87,573,000& «4.5%

s}
<
2
AYRE ASH =
87,573, 000! 3. 495%
2
<
2
CONIQUREE
3,061,000 *12.27%
2NDBRHEERLIS
DE2E ASH REE
87,573,0002 *1.75%
2
=
2

87,573,000& +0.888%

3,941

2,000
500
1,441

3,437

3,061

1,760
440
861

376
2,311

1,533

1,120
280
133

778
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